B+ B B8 R 3 #2 il - <(DC 34k R) ®6.5
MR ~F(mm) ®6.5x45 ®6.5x50
# M EE E(Sn) 3.0mm 6.0mm 1.5mm 2.5mm
ZEAR A E| 3] BA E|$::)

3% 3DC 10-30V NPN N.O.

1LO6.5-M03NA-Y3V3/C45

ILO6.5-FO6NA-Y3V3/C45

106.5-M1.5NA-Y3U4/S50

106.5-F2.5NA-Y3U4/S50

32 ADC 10-30V NPN N.C.

ILO6.5-M03NB-Y3V3/C45

ILO6.5-FO6NB-Y3V3/C45

106.5-M1.5NB-Y3U4/S50

106.5-F2.5NB-Y3U4/S50

4%5XDC 10-30V NPN N.O.&N.C.

3% 3DC 10-30V PNP N.O.

IL0O6.5-M03PA-Y3V3/C45

IL06.5-FO6PA-Y3V3/C45

106.5-M1.5PA-Y3U4/S50

106.5-F2.5PA-Y3U4/S50

3% \DC 10-30V PNP N.C.

IL06.5-M03PB-Y3V3/C45

IL06.5-F06PB-Y3V3/C45

106.5-M1.5PB-Y3U4/S50

106.5-F2.5PB-Y3U4/S50

42 5XDC 10-30V PNP N.O.&N.C.

4% DC 10-30V NPN&PNP N.O.&N.C.

* 3% 3 DC 10-30V NPN&PNP N.O.&N.C.

& & |
® %
1 | ‘ !
| 1 |
6.5_ 065 6.5 cu§_5= v
; \ ; L : ]
| | @‘ © m_‘
i Pl o =
! ! N
RHE(R A mm) ol ? ol ¥ | 45 | ®
| S i Gl
=F e, | Plolg ool g
M8x1 M8x1 ° _ ‘ ® : ERA
M12x1 M12x1
2  BE E8(Sn) 3.0mm=*=10% 6.0mm=*10% 1.5mm=*10% 2.5mm=*=10%
FEiHE 1~10% 1~10% 1~10% 1~10%
FRAE A 44 £#9x9x1mm £18x18x1mm £K8x8x1mm ££8x8x1mm
FrE IR 1000Hz 500Hz 2500Hz 2000Hz
EERE <Sn*3% <Sn*3%
WL RE R <0.01mA <0.01mA
EHBER <10mA <10mA
W R <200mA <200mA
Sl E <2v <2V
Rip Rt R IE R IP, LB BORDEIRIP, BB R | AR RIBRIP, LB BB IIEMR P, S R B AR AP
LED &7 HMIETERAT (&) HIEIRRAT(H &)
T1EiRE(°C) -25~+70°C -25~+70°C
BRI <Sn*10% <Sn*10%
iR E('C) -25~+80°C -25~+80°C
EEEE Uk 50MQ L _E(DC 500VIkE ), S B SR Ao T 2 8 | 50MQLLE(DC 500VIKRRTR), 7t F R AP = 2 18]
EMC & ¥R HEEN60947-5-2 A #5 HEEN60947-5-2
D274 IP67 IP67
EEAR 3ETM 8% 15 28 A5TM127% 5 38
LRS! ST b kB R 4 £ 0 T A4 R 2R Y ST A4 RS 85 4R T A 2B R
&i* Er 12,458 &ES, BER05H. *: ALThEMEAE, £¥R169TT

@ woobD FYWEST

EBARAEFRZBRQE




	Ò³Ãæ  1

